
#0 Sheet Metal Grommet with a Brass Finish

Sales Class: This is the sales class code for the product lines.  Below are the product lines: 

#00 Size Differentiation Indicator:  All sizes of grommets and washers will have a 00 here except when the grommet or washer is a #00. When 
the grommet or washer is a #00, these indicator numerals will be 10.  For example 20-10900-5000XG is a #00 sheet metal grommet, while 20-00904-5000XG 
is a size #4 sheet metal grommet.   

Product Type: This defines what the product is: 

Size Indicator: This number identifies the size of the grommet or washer. For example: 20-00901-5000XG is a size #1 Grommet. If the “9” were an “8” 
(e.g. 20-00801-5000XG) would be a #1 Plain Washer.  If ordering a set, use the Grommet part number and replace the “9” with a “7.”  After the “7”, indicate the 
washer type needed for the set by using the codes in parentheses below, such as T for Tooth Washers.  Example of #1 size Sheet Metal and Tooth Washer set is 
20-007T1-5000XG.  Note that Self-Piercing Grommets and Washers are only available in sets.
Below are the available sizes: 

Finishes:

Pack Size: There are four primary pack sizes for DOT Grommets and Washers:  

7: Grommet and Washer Set
8: Washer
9: Grommet

Sheet Metal Grommets: 20-0090
#00
#0
#01

#02
#03
#04

#05
#06

Plain Washers(0): 20-0080
#00
#0
#01

#02
#03
#04

#05
#06

Tooth Washers(T): 20-008T
#0
#01
#02

#03
#04
#05

Neck Washers(N): 20-0480
#00
#0
#01

#02
#03
#04

Rolled Rim and Spur(R): 20-0099
#0
#01
#02

#03
#04
#05

#06
#07
#08

Self-Piercing: 20007SP
#0
#01
#02

#03

0161: Black
5000: Brass
5183: Nickel

9042: Foliage 504
9053: Tan 499
9056: Coyote 498

9064: Tan 500
9066: Sand 26
9071: Camo Green 483

  XG: 25 Gross Pack
1XG: 25 Gross Packed in 1 Gross Packs

XM: 1000 Piece Pack
XB: 1 Barrel Pack

XB—Barrel Pack product availability by quantity: 
2500 Gross: 1000 Gross: 500 Gross: 250 Gross: 125 Gross: 
#00 Sheet Metal Grommet
#00 Neck Washer

#0 Sheet Metal Grommet
#1 Sheet Metal Grommet
#0 Plain Washer
#1 Plain Washer
#0 Neck Washer
#1 Neck Washer
#0 Rolled Rim Grommet
#0 Spur Washer

#2 Sheet Metal Grommet
#2 Plain Washer
#2 Neck Washer
#1 Rolled Rim Grommet
#1 Spur Washer

#3 Sheet Metal Grommet
#3 Plain Washer
#3 Neck Washer
#2 Tooth Washer
#3 Tooth Washer
#2 Rolled Rim Grommet
#3 Rolled Rim Grommet
#2 Spur Washer
#3 Spur Washer

#4 Sheet Metal Grommet
#4 Plain Washer
#4 Neck Washer
#4 Tooth Washer
#4 Rolled Rim Grommet
#4 Spur Washer

20: Grommets and Washers
89: Tooling
90: Lift-the-DOT®

91: Common Sense®

92: Pull-the-DOT®

93: Durable™

94: Baby Durable™

95: Segma™

95: Speedy Rivets®

96: Gripper®

97: Medical
98: Miscellaneous

20

00

5000

9

XG

00

Example Part Number: 20-00900-5000XG

DOT® Part Number Overview

M
KT

00
95

 R
ev

. 1
 (0

91
8)




